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Total of 3 questions. 90 minutes.

Onlv a calculator. a pencil, a ruler and an eraser ailowed




. (30 points) Find the equivalent inductance of the circuit below .
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2. (30 points) In the cocut below,
a. Find the current i by finding the Thevenm equivalent at a = @’ and b = b’ nodes.
b. Caleulate the power dissipated in the middle 2Q resistor.

40 20

. b a0

T




0

1he C y
— I/'] .
N y (‘ Vi)
-] Ik

5V

vt)= 2V

>
Da

y .8

(: 5‘03/:F ll( (0-) = oV
(40 points) In the following circuit, switch SW1 closes att = 0, and switch
SW2 closes when v(t) reaches 2V. Calculate and plot v(t).
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(40 points) In the

Ve (0=) = oV

ate and plot v(t).
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following circunt, switch SW1 closes at ¢ = 0, and switch
SWZ2 closes when v(t) reaches 2V. Calcul
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